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[Ea 110,000
402 2IZtA=01d 220,000 425,000 A205,000
= 110,000
s 110,000
03 2IZ+2AEAIZHI 220,000 425,000 205,000
O MASE O 2228 A
5,000,000& ~44= 220,000
= 110,000
s 110,000
MASE 08 2/29d At(ZHl FIH2) 44,000 85,000 A41,000
402 QI2HRH=0I & 44,000 85,000 A41,000
I ENET 44,000 85,000 A41,000
O HASE D@l 2222 AI(2H] 22
) 1,000,000 #4422 44,000
NASESUESS FOIAAZ A 35,100 54,300 219,200
501 A= 35,100 54,300 219,200
01 2Rt I= 35,100 54,300 219,200
O NASESEUEES SOINKE AL (EHI
EIH) 3,100
BIETHAY 3YTIRA 175,000 300,000 125,000
= 87,500
[Ea 87,500
402 2IZtA=01d 175,000 300,000 125,000
= 87,500
o 87,500
02 QI XHE AL E R (01X THE) 175,000 300,000 125,000
O BT slYsteA
25,000,000 *7= 175,000
< 87,500
[Ea 87,500
ANSE M3E A= Fo1EES 7,000 21,840 114,840
401 Al HIZL 201 7,000 21,840 14,840
01 Al&HI 7,000 21,840 14,840
O HBBAES XNHS 2I8 AHTAHBEF
&) 24 700,000 %1000 = 7,000
SSTFHACX ALY 35,000 25,000 10,000
== 24,500
o 10,500
402 2I2EX=201H 35,000 25,000 10,000
< 24,500
T 10,500
02 QI X2 AL EE (01X THE) 35,000 25,000 10,000
O SSF ZHIZZ2X & FHAIE S#ZH
SALS 5,000,000& 374 2 15,000
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A SELEY
33 EX & A52c
ol X222 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 28,000 28,000
01 Al&H| 28,000 28,000
O S2YFL HYAIES 21 L NS4 28,000
~CRYN NN U SN2
15,000,000 * 14 15,000
-CE2gE 2FLX 400,000& *200H 8,000
—ASHST 2 YA DH ST
10,0002 *500H 5,000
SUHEE 25 & 2el 174,990 181,890 26,900
308 AXIHMSOIA 185,100 0 185,100
18 SIS0t HAS A 155,100 0 155,100
O NESF MASKA ZhEHE
155, 1002 %1,0002 Xl 155,100
401 AIEHIZ SR OHYI 19,890 181,890 A162,000
01 Al&HI 19,890 181,890 A162,000
O FIDIEEHX =AES
117,000 * 1708 19,890
CERHFA GHHAIEE ZX € 2l 74,000 91,083 A17,083
= 16,700
[Ea 57,300
401 AlEHIZ S 0HBI 74,000 91,083 A17,083
= 16,700
o 57,300
01 AlZ2H| 74,000 91,083 A17,083
O 23 CtiAE=E &5 & RANE=> 55,000
== 11,000
o 44,000
O = Eese &1 12,000
= 3,600
= 8,400
O =2I)H8esi K2 7,000
S 2,100
o 4,900
geldel EX2te 164,741 160,577 4,164
= 64,017
T 100,724
IHEZAIXIIE ZAL 2t 143,135 133,480 9,65
= 64,017
= 79,118
201 Ler23| 135,855 126,680 9.175
= 64,017
[Ea 71,838
01 AtR2t2|HI 135,855 126,680 9,175
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A SELEY
33 EX & A52c
s gelEe EXj2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HEBAXIF HII2 2B 242
45,8002 *152,0002 XI /64Z | 108,775
= 54,387
Ea 54,388
O HESAIRIL =AI2 BE =8
45,8003 %2, 4002 X *50%+30% 16,488
= 8,244
[Ea 8,244
O HESAIXIIOF ZAF 2LHI(Z2lH E4 &
SAIER , 82" ) 8,000
= 1,386
Ea 6,614
O HESAIXIOb EAL OFAHZ SR OHAIH]
8,0003 x4 02+ 2,592
202 04| 7,280 6,800 480
01 SLHoIH 7,280 6,800 480
O HESAIXII EXISEEEAM
20,0003 x4 +01 7,280
MRS Rzl 14,700 14,700
201 eer23| 14,700 14,700
01 Al2z2lH| 14,700 14,700
O JHeHIB 2E 8% 242
1,000,000 123 12,000
O SZANEXI 2827 =2 2,500
O HgRs=s I G20 HE == NS 200
EX2e| RFa 6,906 12,397 25,491
201 et23| 4,506 9,997 25,491
01 AtR2telHl 4,000 4,000 0
O EXZc g2ds ZelHEH 78 S 4,000
02 S3=gHl 506 5,997 25,491
O EX2cg:R =MEs 257
2,530 20004 506
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
O BESaEHgEa N & HgHE 38 &
& sfol H2 =xojy|
20,0003 x4 »303] 2,400
CXE NH 25 866,009 1,369,218 /503,209
= 204,217
o 661,732
KETH AL AFS 2t 584,592 1,072,436 N487,844
201 ger=3| 74,192 62,036 12,156
01 At 2|l 47,880 48,880 21,000
O NETHEAANG &= 28I+
45,0002 *800 K| 36,000
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2A:

X XH -
o=

el UXE XA +5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O XEMEAL H2= g2 7 2,000
O XETEZAL 22 BHEH & EX
e 3,000
O NEWEAF 225 DHALbI
8,0003 x4 90! 2,880
O ME=AMHR 222 =l 2,000
O g% o 2=t e 2 2,000
2 ZZ2H| 2,312 13,156 13,156
O NHWEAAMY S)I2B 23
2,530& 1,300 +83] 26,312
202 04| 10,400 10,400
01 =LHOLI 10,400 10,400
O XNEMEAE A2 GLa
20,0002 x5 104! 10,400
301 EtE N = 500,000 1,000,000 A500,000
14 IIEt2 83 500,000 1,000,000 500,000
O 8= S 500,000
KETHEALSEALS 281,417 284,772 A3,355
= 204,217
s 77,140
201 et 3| 9,719 11,846 N2, 127
= 9,719
01 AtR2telHl 9,719 11,846 N2, 127
O XEMZEAAE JIEH 23] 9,719
= 9,719
308 AHXIEMSOIH 226,270 225,645 625
= 185,130
Ea 41,140
1B BI2SoUeE A ele]l 226,270 225,645 625
O KEMZEAL X7 ZASE =8 185,130
= 185,130
O XEMEA X7 EMESY 22(2HIF
h) 41,140
401 Al HIZ S OHbI 45,428 47,281 1,853
= 9,428
o 36,000
01 Al&HI 41,428 43,281 A1,853
O NHMEA X7 XPHAZESY =2=2(
ZHIZOH) 17,000
O XNHETZEAL X7 & & HEdIs 9,428
= 9,428
O XNAEA X7 5 JIEE HEHIE(2
HIZ=H) 15,000
03 A2 2 0HYI 4,000 4,000 0
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A BEeIAA

. EX € Axs2

gel LXNE XN&E 725 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| O NEMZAAIY ZAS2H(ZHIZD 4,000
849151t 34,543 19,637 14,906
R s 3,543 19,637 14,906
201 Zeie | 23,023 12,005 11,018
01 Al2tefsl 13,059 7,367 5,692
O ¢t ZiH 5 428 29
200,000& «1CH*62] 1,200
O 22 ZeH S 428 Y
400,000 *1CH+B82] 3,200
O 3iIYe F2S 98t AE R0 AR 7
& 1,500 =6000H 900
O HZ#AAG I} =ZASX 7L
22,5003 #7092 A 1,575
O 310t Y2FTS I8t AREE S 72 2,000
O 317t 22 ZXES 98t S2 0iAl|
8,000 * 12 +6E 73] 4,032
O HE#SI5It 22XR S gols 152
-S2Xi=z 2002 *5000H 100
-=oE 502 *1,0400H 52
2 222 9,964 4,638 5,326
O sioleg? 22 Ya8 LE7Y 1,964
- 3802 *6000H 228
-3 2,480 7000H 1,736
O SEAFINAAHIA KX24
666,600 < 122 8,000
202 O4dl 11,520 7,632 3,888
01 =2uHo1H| 11,520 7,682 3,888
O el5idt o of
20,0002 x6H 8L 122 11,520
FH=X5 2,505,464 2,521,373 A 15,908
2 1,971,300
LS 252,940
i 281,224
Nas FHSAS =HSA XN 2,505,464 2,521,373 A15,909
= 1,971,300
&= 252,940
2 281,224
FH=NYLET 16,364 16,364 0
201 LerEaY| 6,764 6,764
01 Al2tefsl 5,400 5,400
O Zelt 225 2¢ 250,000 62 1,500
O FH=X LFTS I8t 044l
8,000& x5 *403] 1,600
O SIgh AZS 0IYS I8 B0 A S
66,0002 x 157 A+23 1,980
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A SELEY
LRSS
oHel: HAS FOHE FA=X N (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,690
s 22,610
MASFAUAES OlAHI XIZAAS 2,000 0 2,000
= 1,000
< 1,000
301 EtE NS 2,000 0 2,000
= 1,000
= 1,000
01 Al EEHS(FRDEXMH) 2,000 0 2,000
O OIAHHIXIZAIS 400,000 x5t 2,000
= 1,000
= 1,000
AY2LZH(SRY) 94,692 97,647 A2,955
= 10,000
s 84,692
Jl=23sl 45,060 50,200 A5,140
fA Jl=3Hl 45,060 50,200 A5,140
201 et 3| 27,000 37,500 10,500
01 At2t2l] 27,000 37,500 210,500
O BAJI=3Hl 224l
1,500,000& «12& 18,000
O oiga A (SHEDl, sE7|) 225 7Y
600,000 %15 9,000
202 048l 4,000 4,000
01 2L A b 4,000 4,000
O goigle 2X2 I8 0l 4,000
203 =] 9,060 8,700 360
01V 22HARFA 3,300 3,300 0
O A=2gdee= 3,300
M EA2EER=AY 5,760 5,400 360
O BA2gge=s
(400,0002+(5,0002x 169 ) ) 12& 5,760
405 AtatsE = 5,000 5,000
01 ML ESFHSH 5,000 5,000
O ZoiZglHe SII(XIGARY) 2 5,000
el 23 49,632 47,447 2,185
= 10,000
T 39,632
M8 NgEL 22 49,632 47,447 2,185
= 10,000
= 39,632
101 @124H| 44,653 42,687 1,966
= 10,000
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2N ZEo
M WHSAAH|(SFLAL)
ool ol (ol m2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 34,653
03 ZRE(SIH) 2224 44,653 42,687 1,966
O CIHAIRTHE 0121h] 44,653
-2z 2,495, 06021+124* 122! 29,941
= 10,000
= 19,941
- FH22g(2HIFH)
2,495, 06021 *124 *50%+23] 2,4%
- &0 3(=ZHI=0h
2,495, 06021 %124 *50%+23] 2,4%
— A2l 224 (28151
20,6102 %101 2124 %122 2,474
—JIEAg(2HIE0H
20,0002 1% 122 240
— R OUZAH| (ZHIF})
140,00021+124* 122! 1,680
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